ECONOMICS - Study of how people respond to constraints in ways to better themselves

FUNDAMENTAL CONSTRAINT - SCARCITY

SCARCITY - for all of us, there are things we want more 


of.  We call such things GOODS.

Scarcity implies choice.

Ex-president Clinton recently commented that America needs decent health care for all its citizens.  Do you agree?

On the first day of my art history class in 1968, the professor informed us that he believed that 

      “Grades cause competition


Competition inhibits learning


Therefore in order for us to learn as much as 
possible, we would all receive an A.”

Do you think “grades cause competition?”

How would you predict the students reacted to the changed constraints in their art history class?
Scarcity implies choice.

Choice implies cost.

The ECONOMIC COST of an action (decision, choice) is the HIGHEST VALUED FOREGONE ALTERNATIVE.
Proposition about choices - for all of us, we will 


give up some of one good to get more of 


another.

SUBSTITUTION POSTULATE - 

INDIFFERENCE - set of alternatives that you will let 



    another choose between for you.

Measurement of willingness to substitute

MARGINAL VALUE - The maximum amount of one 




    good that will be given up to 




    get another unit of a second 




    good.
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POSTULATE 3   SATIATION

THE MORE YOU HAVE OF A GOOD, THE LESS OF ANOTHER YOU WILL GIVE UP TO GET AN ADDITIONAL UNIT OF THE FIRST

DIMINISHING MARGINAL VALUE

IMPLICATION - IF PEOPLE HAVE DIFFERENT 

MARGINAL VALUES, TRADE IS EFFICIENT

ECONOMIC EFFICIENCY - AN ACTION OR 

CHANGE IS ECONOMICALLY EFFICIENT IF SOMEONE IS BETTER OFF AND NO ONE IS WORSE OFF

